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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt any 5 questions.
3. Part of the questions to be attempted together.

4. If question papers has Part-A/B/C (write appropriate
direction),

5. All questions carry equal (18) marks.

6. Use of Calculator not allowed,
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7. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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1. (a) What is the process of credit systems in multiple

(7)

banking systems?
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(b) What is Money? Do modern checks satisfy the

desired properties of money? (8)

(31) uaites Afhn wonferal ¥ wlRe frew & wfkar =
27
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2. (a) The third working group of the RBI has defined
“Monetary Aggregates” and “Liquidity Aggregates”.
Explain the need and significance of each of

them. ‘ (6)

(b) Calculate the deposit multiplier, currency multiplier
and money multiplier when required reserve ratio
is 0.2, desired excess reserve ratio is 0.035,
currency to deposit ratio is 0.25 and monetary

base is rupees 500 lakh, &)

(3r) RBI & R & wE 7 “wiftw weaa” SR “wRem
eI i wieie fahar 21 S A WS W S

IR ¥Ec W T
P.T.O.
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3. (a) What are the key features of new Monetary

aggregates? (7

(b) What is the Principal Agent - Problem? What are

the tools to solve this problem? (%)
(37) =¢ Hfw wEaa o e fEvag @ 87
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4, (a) How does Moral Hazard affect the choice between

Debt and Equity contracts? (7)

(b) What properties should a variable have to serve

as an intermediate target of Monetary Policy?

(8)
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5.
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(a) Illustrates why a bank with a bank with market
power will charge a lower loan interest rate
on borrowers who are good credit risk and a

higher interest rate to borrowers who are bad
credit risk? (7)

(b) What is the difference between futures and
forward contracts? Explain the role of futures in

financial markets? (8)

(37) T =uRe d& e wise WREW Al SUREdISH o
FHH T NI oY 3R @ Hise SRGH arel FURSHATS
A I AN | & odl 8, Wee Fig ?
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(a) What do you mean by Expectation Hypothesis and
Yield Curve? (9)

(b) Suppose the interest on a one year current deposit

is 5%, on a two year current deposit is 4%
P.T.O.
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(i) Describe the shape of the yield CUTrye

(if) Use the expectation hypothesis (o determing
the market’s forecast of the one year rate

next year,

(iii) What is the market forccast of a one year

rate in two years? (6)
(3r) v URehed T SR IS qH ¥ TR FT e 27

(@) W A B e A @ A IR e 5% 2,
o WA H AR T W 4% ©

(i) U9 9% & AR FN qU A

(ii) am@raﬁwgﬁa%az%w%rﬁaﬂwaﬁ
frefRa = & Rrv sien gReeaer o0 STEnT
g

(i) 2 aof ¥ g af @ W W AR TEgAT
B7

7. (a) Define the call option? Assume that there is a call
option on asset XYZ that expires in one month
and has a strike price of Rs. 100. The option
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price is Rs. 3 suppose (hat (e current prj
asset XYZ is R8s, 100, What 14 (lye

ve of
profit or Jous
for the investor who purchases (hijy call option

and holds it to the expiration date? (10)

(b) Given the following inf: ormation, graph the relevant

yield curve. A three year government bond yields
1%; a three year corporate bond yields 8%. 2
S€ven year government bond yields 9%:

; and 2
S€ven year corporate bond yields 10%. (3)
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3. Write short notes (any two) (7,5><7.5)
(a) Measures of money stock
(b) Preferred Habitat hypothesis
(c) Intermediate targets and operating targets
(d) Money Multiplier
W ot R (@1 @)
(31) & ¥R & I |
(3) wEEEr JrEE IR
(@) wemad dea SR uReres @

(¥) &

(2000)



